Pre-Calculus Chapter 1
Review- Miller 2016

1. Use the graph of f(x) to graph g(x).
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2.Graph f(x)= ]x]

3. Graph g(x) = —;—|x—1|

4. Explain in words the translation from f(x) = g(x)
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#5-8: Given f(x)=3x—1land g(x)=x>-x—6

5-6. Find f — g _
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Find the domain
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7-8. Find
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Find the domain
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9-10: Giventhat f(x)=x>+1and g(x)=+2—-x,
Find (f o g)(x). /& ,54Find the domain of (fo g)(x)
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11-12. Find f(g(x))and g(f(x)) and determine wheather the pair of functions given below are inverses of eachother.
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f(x)=5x+2 and g(x)=

S'f\CC bo.ﬂ’\ @n{;o\,\ }’»:‘ %
eoc b o’h\cf

0
Y

— |
13-14. Given T ={x—-2)%,x =2 - -

a. Find the equation for ' (x) 7C(“<} S-\ (K) /?L-w>
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b. Graph f and £ in the same rectangular coordinate system.
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A. A 400 room hotel can rent every one of its rooms at B. You inherit $10,000 with the stipulation that for the first
$120 per room. For each $1 increase in rent, two fewer year the money must be placed in two investments
rooms are rented. expected to earn 8% and 12% annual interest.
a. Express the number of rooms rented N, as a function of | a. Express the expected interest from both investments |,
the rent x. N()«) HOO— 7,()< 'Lo) as a function of the amount of money invest in the 8%, x.
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b. Express the hotels revenue, R, as a functlon of therent, | b. If the total interest for the year was™ $1 088 ‘howthuch
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C. You have 600 yards of fencing to enclose a rectangular field. Express the area of the field, A, as a funiction of one of its
dimensions, x. P*(,ao yA.s (\(x = X ( 300 —-)() e L
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D. The sum of two positive numbers is 86. Write a function that modeis the product of the two numbers in
terms of one of the numbers, x. P( V= &( =)
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